Midteym  oubins— EE 14 Winte 200k

1. KVL FW/ H\ﬂ St VU = KL“(. LO{A\ + e
e

- _0;{{‘:—(:: V,(li-e @

| W“@' 7g-bi-a6 @

. ¢ \ v . ° -
30 C:be g i‘_; V- Q_( _bﬁ _____%SIG):/V——KL"\OSGQ

At — L |
1(&‘14_3) ;\/—'—\DS@(S) T _ V_bc@
= L= R+LS

% $J0-v1l- 0@, 5°7g =\ V68 _as
R tLs

> 0(@)[(7( +Ls) 523 + as C{th){,bes] LV

= ) _ b
Vis) L34 (R3qal)s™+ (R+b)s




feo £
v ?53+ L2 43S

I8

A V\fcesmya condhition %( SM\?(\(-H@‘\‘S ot all the

coetlicients of the choteriste Foynowb«!] be  posrtive

L2 2 P .
Y‘D * 37 Y\0+ QS \
¥s + 33 +0s” Rosihve =5 ot cable

AY\D’\JV\G"Y M‘?\)foad\ wouu ‘oﬁ 0 conﬁde{ {-\t\p\\— S\ls(\ew\ \f\ms one

Po\e ot oh“%)m and o Foles i the LHP Nonrereq\Lea( Po(t’s oY)

‘)UO axs makes he %75&%4’\ Y\eu\LYM(a %'*‘91‘3’8 .

% Fom either o\f?roacl«) Me systern 1S );@1“ S\Lﬂb‘e"

G E
‘ . \XS +85 *+3s | j 7(9

C,’lamd‘ﬁﬁfﬂc '@Ar\chom CkﬁféLQHOF §7S’(\€m
RS &Xs+3$1—k€:0

We’ Il use  (lout’s  criterion,



s |7 > =
2 g KP
\ | Ex3—3xKp
50 - L —-K‘) 0
S
| Kp

2-¥p >0

Kp >0

= [ OCKp 3| uil pae b ystem stable.

6» Chameterishe ﬁm\(‘,ﬂbn showld Wave  \\re Same Yooks o1

In oder 4o have o steble sys%W\IE

<3+95) (s 4225 .rQ?s*)‘) (S 1925~ oizgj),(gtqg((mzs)ﬂ T‘Z) =0
(o) (543131 7) = (5499) (a g ) -0
5(s + Qg)(sszZJr %«) = (5+Q5)(5’Sl+ 4541)=0

gsg% B?Sz+ 35405 =0
B}j Comvwma Mgk to  chavacterstic Q{L&Md{m (n Qi

Ko is eqal 4o 05 —|i<p = 05 |




7»‘ £ _ s’y Bsialss ,.Lt

V' poa i3 425 O o

We need o ,BW( the gwpba—&e&e erroy to the s’ref (\\(mﬁ

v

_ . : 2
\r”é > /OAM CL'H = /0/\\1#\ S EC&) :,Qim S. — 55—1—3@.2,&35

x 1
t—>¢ S —0 $ >0 XS&TKS?* 3540.5 \E

Ve 5\¢ The system wll  be oble to tack step. inpus with
N\ gero 5fcao(d state exvor:

5 ©6 0.5 0.5
©6)

—

\RS) 424 §L £ 351 05 ) 7(&‘05)( (§+Qz572+ T%)

Where we  used  our kmw(aﬁze aboutt  vootfs fom Q8.

\)—(S>:"§ = @(S :rOP . x%
3(9+Q9)((9+oaf)+.(lé-)
= _QL+ b CS ‘\‘Cl



mosta_000
Sticky Note
We also need to make sure that all the poles of sE(s) are in the LHP before using the final value theorem. 
In this case they all are in the LHP.
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